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Q14. CALCULATOR ALLOWED

OMA, ONB and ABC are straight lines.
M is the midpoint of OA.
B is the midpoint of AC.

3 — -
O04=6a OB =6b ON=Ikb where kis a scalar
quantity.

¢ Given that MNC is a straight line, find the value of k.

Q15. CALCULATOR ALLOWED
o A

(Total for question = 5 marks)

Z OABis a triangle.

x4 ,,/)< ¥

A is the midpoint of OZ
Y is the midpoint of AB
X is a point on OB

O4d =2 OX =2 XB=h

Prove that XYZ is a straight line.
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(Total for question = 5 marks)
Q16. CALCULATOR ALLOWED
OXYZ is a parallelogram. GFFUS‘J"& sides are €4 wal cnd I‘)aY‘O\HE‘_(

—
OX =a

>

—
OF =b

P is the point on OX such that OP: PX=1:2
R is the point on OY such that OR: RY=1:3

Work out, in its simplest form, the ratio ZP : ZR
You must show all your working.
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(Total for question = 5 marks)
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Q17. CALCULATOR ALLOWED
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NM = 3o+ Lb
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NP = N?x + AP
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Q18. CALCULATOR ALLOWED &b

OAN, OMB and APB are straight lines.

AN = 20A.
M is the midpoint of OB.
Oi=a OB=hb

AP = kAB where kis a scalar quantity.

Given that MPN is a straight line, find the value of k.
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(Total for question = 5 marks) E_
> ——=E The diagram shows triangle ABC.
AB = 3a
_:..
AC =12b
— —>
BE =34AC

D is the point on BC such that BD: DC=3: 1

Prove that ADE is a straight line.

—> — —>
bt = D3+ BE
= 30bRe) | g
.
= ~6b* T | 4p
Lo
_ -3b

+ Ao 4 6b

4

[

matthpGrade-co-uhh

= e + b



Visit MathsUp6rade-co-uk for Questions, Clues & Solutions

—

DE O‘_f:i—ib

— 3 5
AD —gg+32__

£1¢| 4%

CA

+
+

3
= L\ =" =
3&

ng "“'%O' ~
~

S'mce "Hn,e_ 2 UQQ““O!(‘S are muWP\ﬁS‘. crp one oma-l'lqgf
]
T L‘%j must  be on o s-\-rajjh-} line .

(Total for question = 4 marks)
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